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JO0A0O O00Oo0O0OoOonOm

pai=3.141592653589793238 !0 00
1ii=0

LftcR=LftcR

LftcAlSn=LftcAlSn

k_ax=k_ax
TO=TO
Ta=Ta
V1im=Vlim
Sm=Sm
N1=N1
Rcs=Rcs
d1=d1
a=coila
d2=42
iSH=iSH
oSH=0SH
SOL=S0L
AM=AM
I10=I0
td=td
RO=RO

Port = Port

c do 300 j=0,1
c a=al(j)
c do 200 1=0,13

if (LftcR == 0)then

RO=Rcs+d2+a+d1+iSH+SOL+AM

else if (LftcR == 1) then

if (RO-(d2+a+d1+iSH+SOL+AM) > 0) then

RO=RO

Rcs=RO-(d2+a+d1+iSH+SOL+AM)

else

open(1l,file="coil.txt")

write(1,*) "Exrror 000D ODOODOODOODODOODOOOOON
close(1)
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close(6)
write(6,*) "Error 0000000 OODOOOOOODOOON
stop
go to 200
end if
else
open(l,file="coil.txt")
write(1,*) "Error ROOOOOOOO™"
close(1)
close(6)
write(6,*) "Error ROOOOOOOO™"

stop
go to 200
end if
d1=d1
d2=d2
iSH=iSH
oSH=0SH
D=(iSH+2* (AM+S0L) +oSH+a+(0.5d0* (a+((d1+d2) *0.5d0) /
& (tan(pai/N1)))*Port))
H=20.8d0/13.1d0*D
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C 0gooogooo csO

Subroutine coiloutput(RO,AM,Rcs,dcsn,Bcs,cli,CIDRIV,CIP,
&Zeff ,ELL,BARTI,PHIcs,VS,tburn,tburn2)

REAL*8 pai,myu0,CEjima,RO,AM,Rcs,dcs,Bcs,dcsn,
&cli,Lp,CIDRIV,T10,Iind,CIP,IP,1i

REAL*8 PHIcs,PHIramp,PHIflattop,VS,tburn,tburn2

REAL*8 Zeff,Gnc,ELL,k,BARTI

oo
pai=3.141592653589793238
myuO=paix4d-7
CEjima=0.4
RO=RO
a0=AM

Rcs=Rcs
dcsn=dcsn
dcs=Rcs*dcsn

Bcs=Bcs

li=cli

Lp=0

Ip=CIDRIV
Iind=CIP/1.0d6 !'MA

PHIramp=0 !'V/s

PHIcs=0 !V/s

VsS=0 'O

PHIflattop=0 !V/s
tburn=0 !sec

k=ELL

Zeff=Zeff

T10=BARTI/10 !/10keV
Gnc=4.3d0-(0.6d0*(R0/a0))
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goon

PHIcs=2.0d0*pai*Bcs* (Rcs**2-(dcs**2/6.0d0) )

Lp=myu0*R0* (Log (8.0d0%R0/a0)+11/2.0d0-2.0d0)
PHIramp=Lp*Ip+CEjima*myuO*RO*Ip+10.0d0

PHIflattop=2.15d-3*Zeff*Gnc* ((Iind*R0O)/(k*a0**x2*xT10*x1.5)) 00000
VS=PHIcs/PHIramp

if (Iind == 0) then

tburn=0

tburn2=0

else

if (VS > 1) then
tburn=(PHIcs-PHIramp)/PHIflattop
else

tburn=0

end if

tburn2=PHIcs/PHIflattop

end if

open(l,file="coil.txt",access=’append’)

write(1,101) Rcs,dcs,Bcs,1i,Lp,PHIcs,PHIramp,VS,PHIflattop,
&tburn,tburn2

c write(1,*) BARTI,Ip,Iind

write(6,101) Rcs,dcs,Bcs,1i,Lp,PHIcs,PHIramp,VS,PHIflattop,

&tburn,tburn2
101 format(/,
&’ - *x*%xCScoil U 0 O O ®kk———m—mmm—— g

&,/,’> Rcs=’F9.3,1x,’dcs="F9.3,1x,’Bcs="F9.3,1x,’1i="F9.3, 1x,
&/, Lp=’E9.3,1x,’ PHIcs='F9.3,1x, ’PHIramp="F9.3,1x,
&/,’ VS=’F9.3,1x,’PHIflattop="F9.3,1x, ’tburn="F12.2,1x
&,’tburnflattop="F12.2,1x )

close(1)

return

end
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EDGE OF BEAM CURRENT: XMAX= 0.850

JXX= 1 1 1 1 1
FXX= 0.04100 0.00096 0.00004 0.00048 0.00125

# MHD PRESSURE LOOP NO. 1 #

J-ERROR=0.019 AT I= 14, J-L0O0OP= 9(MAX 198)
J-ERROR=0.020 AT I= 81, J-L0O0OP= 10(MAX 198)
ALPHA PRESSURE ERROR: DLT MAX= 1.00000

sokokokskokokokokskokokokkokokokkkokk JOB NO. 18 skokskskokokokokokoskokokoskokokskok sk sk ok sk ok ok ok ok
LTRAP =1 ; LPITCH=1 ; LALFVN=0 ; LEDIFF=1
LIONTR=1 ; LMULTI=1 ; LBOUNC=1 ; LTEDGE=0 ; LROTAT=3
BT =6.37 ; RO = 6.50 ; AM =2.17 ; ELL = 1.88
DLT P= 0.35 ; LAMDA= 1.00 ; SHIFTO= 0.20 ASP= 0.00

**INITIAL DATA OF TEBAR=18.00 ; TIBAR=18.00 *x*
TEO =30.88 ; TIO =30.88 ; NEO .110E+21 ; ANO =.000E+00
TEBAR=18.00 ; TIBAR=18.00 ; NEBAR =.800E+20 ; BARDT=.709E+20
BETAT=0.0339 ( BETAT-TH=0.0275 ; BETAT-A=0.0015 ; BETAT-B=0.0048 )

ZEFF= 1.75; POWTE = 1.00; POWTI = 1.00; POWNE = 0.30

DJDT= 0.0 ; POWTE2= 1.90; POWTI2= 1.90; POWNE2= 2.00
PEDTE,TE2= 5.0020.00; TESTEP= 0.10
PEDTI,TI2= 5.0020.00; TISTEP= 0.10

ABLK1, ABLK2= 2.00 3.00; FBLK1, FBLK2= 0.50 0.50

FX= 0.04100 0.00096 0.00004 0.00048 0.00125

MX= 4.0 12.0 16.0 56.0 40.0

ZX= 2.0 6.0 8.0 26.0 18.0

PB=163.5 (MW) ; A= 2.0 ; ZB= 1.0 ; EB= 1.50 (MEV)

NBLINE=2 NO.1( 12 3) NO.2( 10 3) NO.

1;PB= 82.9; RT= 5.54; W=0.710; Z=0.000,1.731; ANG= 0.000; D= 0.000
DE=.00E+00 ; WKZ= 8.0 ; XMIN=0.5

96



VROT0=0.100E+03(M/S) ; POWV1i= 1.00 ; POWV2= 3.00

2;PB= 80.6; RT= 5.54; W=0.710; Z=1.731,3.461; ANG= 0.000; D= 0.000
DE=.00E+00 ; WKZ= 8.0 ; XMIN=0.5
VROT0=0.100E+03(M/S) ; POWV1i= 1.00 ; POWV2= 3.00

—————— *%% INDUCED CURRENTS (AMP) *** ————————————————o

BEAM =0.881E+07 ; BOOTSTRAP=0.862E+07 ; OHMIC=0.000E+00 ; CINEGA=0.000E+00
LHRF =0.000E+00 ; ENHANCED =0.000E+00 ; ALPHA=0.000E+00 TOTAL=0.174E+08
; IP(MHD) =0.174E+08 ; FBS=0.494 (<MYU*>=0.232E-03) (MYU*95%=0.454E-02)
QPSI(MHD)= 4.02 ;(NET)= 3.97 QO(MHD)= 2.80 ;(NET)= 3.12 ; QMIN= 2.75
BETAP =1.203 ( BETAP TH=0.979 ; BETAP A=0.054 ; BETAP B=0.170 )

Beta-N =2.681 (= Beta-t*a*Bt/Ip) NE/NGW =0.677 (GW Density Limit)
------ *** RF AND INJECTED POWER (WATTS) ¥ —---——--—-

BEAM =0.163E+09 ; RF TO BEAM =0.000E+00 ; RF TO ALPHA=0.000E+00
TOTAL(NB)=0.163E+09 ; EXT.PWR(NB)=0.164E+09 (LH)=0.000E+00

FS2=0.0017 ; FS=0.0008 ; TAUS=0.708E+01

—————— *%% FUSION OUTPUT AND CD EFFICIENCY*** ———————--—
OUTPUT=0.182E+10(W) ; P-DD=0.405E+07 (W) ; P-TCT(DT)=0.658E+08(W)
I/P(NB)=0.0539(A/M) ; I*NExR/P(NB)=0.281 ; Q= 11.1 ; Q-ELC= 2.9
GEN OUTPUT= 843.428(Mw) ELCINT= 57.214(MW) TRANS OUTPUT= 513.713(MW)
I/P(LH)=0.000 ; I/P(OVERALL)=0.107 ; I*NExR/P(OVERALL)=0.555

Rcs= 1.633 dcs= 0.408 Bcs= 13.000 1i= 0.640
Lp=0.122E-04 PHIcs= 215.550 PHIramp= 280.204
VS= 0.769 PHIflattop= 0.000 tburn= 0.00

------ #x* NEUTRON WALL LOAD #** —-----
PWALL= 2.173(MW/M#x2) DT= 2.1711 DD= 0.0022
AREA=  827.81(M*x2) ; DDNRAT= 0.0057 ; DDTRAT= 0.0051

# MHD PRESSURE LOOP NO. 2 #

1.098381511153000E+020 0.269575226929492
J-ERROR=0.019 AT I= 30, J-L0OOP= 7(MAX 198)
J-ERROR=0.019 AT I= 73, J-L0O0OP= 7(MAX 198)
ALPHA PRESSURE ERROR: DLT MAX=  2.36232

skokskokokokokokskskskskskokokokokokokkk - JOB NO . 18 skokokokokokokskskoksk sk kokokok ok sk sk ok sk ok ok ok ok
LTRAP =1 ; LPITCH=1 ; LALFVN=0 ; LEDIFF=1

LIONTR=1 ; LMULTI=1 ; LBOUNC=1 ; LTEDGE=0 ; LROTAT=3

BT =6.37 ; RO =6.50; AM =2.17 ; ELL = 1.88
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DLT P= 0.35 ; LAMDA= 1.00 ; SHIFTO= 0.20 ASP= 3.00

*+INITIAL DATA OF TEBAR=18.00 ; TIBAR=18.00 *x*
TEO =30.88 ; TIO =30.88 ; NEO .125E+21 ; ANO =.000E+00
TEBAR=18.00 ; TIBAR=18.00 ; NEBAR =.908E+20 ; BARDT=.804E+20
BETAT=0.0394 ( BETAT-TH=0.0313 ; BETAT-A=0.0038 ; BETAT-B=0.0044 )

ZEFF= 1.75; POWTE = 1.00; POWTI = 1.00; POWNE = 0.30

DJDT= 0.0 ; POWTE2= 1.90; POWTI2= 1.90; POWNE2= 2.00
PEDTE,TE2= 5.0020.00; TESTEP= 0.10
PEDTI,TI2= 5.0020.00; TISTEP= 0.10

ABLK1, ABLK2= 2.00 3.00; FBLK1, FBLK2= 0.50 0.50

FX= 0.04100 0.00096 0.00004 0.00048 0.00125

MX= 4.0 12.0 16.0 56.0 40.0

ZX= 2.0 6.0 8.0 26.0 18.0

PB=172.9 (MW) ; A= 2.0 ; ZB= 1.0 ; EB= 1.50 (MEV)

NBLINE=2 NO.1( 12 3) NO.2( 10 3) NO.

1;PB= 95.9; RT= 5.54; W=0.710; Z=0.000,1.731; ANG= 0.000; D= 0.000
DE=.00E+00 ; WKZ= 8.0 ; XMIN=0.5
VROTO0=0.100E+03(M/S) ; POWV1i= 1.00 ; POWV2= 3.00

2;PB= 77.0; RT= 5.54; W=0.710; Z=1.731,3.461; ANG= 0.000; D= 0.000
DE=.00E+00 ; WKZ= 8.0 ; XMIN=0.5
VROT0=0.100E+03(M/S) ; POWV1i= 1.00 ; POWV2= 3.00

—————— *** INDUCED CURRENTS (AMP) **% —————————————————

BEAM =0.762E+07 ; BOOTSTRAP=0.981E+07 ; OHMIC=0.000E+00 ; CINEGA=0.000E+00
LHRF =0.000E+00 ; ENHANCED =0.000E+00 ; ALPHA=0.000E+00 TOTAL=0.174E+08
; IP(MHD) =0.174E+08 ; FBS=0.563 (<MYU*>=0.264E-03) (MYU*95%=0.515E-02)
QPSI(MHD)= 4.02 ;(NET)= 3.97 QO(MHD)= 2.80 ;(NET)= 3.17 ; QMIN= 2.79
BETAP =1.401 ( BETAP TH=1.110 ; BETAP A=0.135 ; BETAP B=0.156 )

Beta-N =3.122 (= Beta-t*axBt/Ip) NE/NGW =0.768 (GW Density Limit)
------ *x** RF AND INJECTED POWER (WATTS) *¥* —————————-

BEAM =0.173E+09 ; RF TO BEAM =0.000E+00 ; RF TO ALPHA=0.000E+00
TOTAL(NB)=0.173E+09 ; EXT.PWR(NB)=0.173E+09 (LH)=0.000E+00

FS2=0.0007 ; FS=0.0003 ; TAUS=0.813E+01

—————— *%% FUSION OUTPUT AND CD EFFICIENCY*** ———————--—
QUTPUT=0.232E+10(W) ; P-DD=0.458E+07 (W) ; P-TCT(DT)=0.687E+08(W)
I/P(NB)=0.0441(A/M) ; I*NExR/P(NB)=0.260 ; Q= 13.4 ; Q-ELC= 3.5

GEN OUTPUT= 1066.059(MW) ELCINT=  68.845(MW) TRANS OUTPUT= 709.077 (MW)
I/P(LH)=0.000 ; I/P(OVERALL)=0.101 ; I*NE*R/P(OVERALL)=0.596
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Rcs= 1.633 dcs= 0.408 Bcs=  13.000 li= 0.640
Lp=0.122E-04 PHIcs= 215.550 PHIramp= 280.204

Vs= 0.769 PHIflattop= 0.000 tburn= 0.00
—————— *xx NEUTRON WALL LOAD *** ------

PWALL= 2.779(MW/M*x2) DT= 2.7766 DD= 0.0024

AREA=  827.81(M**2) ; DDNRAT= 0.0051 ; DDTRAT= 0.0045

gbsodbboobOoobbOoOobooonn

# MHD PRESSURE LOOP NO.49 #

J-ERROR=0.017 AT I= 29, J-LOOP= 1(MAX 198)
J-ERROR=0.012 AT I= 73, J-LOOP= 166(MAX 198)
ALPHA PRESSURE ERROR: DLT MAX=  0.00001

sokokokskokokokkokkokokkokokokkokokk - JOB NO. 18 skokokskokoskokokoskokskok ook skok skok ok ok ok ok ok ok
LTRAP =1 ; LPITCH=1 ; LALFVN=0 ; LEDIFF=1
LIONTR=1 ; LMULTI=1 ; LBOUNC=1 ; LTEDGE=0 ; LROTAT=3
BT =6.37 ; RO = 6.50 ; AM =2.17 ; ELL = 1.88
DLT P= 0.35 ; LAMDA= 1.00 ; SHIFTO= 0.20 ASP= 3.00

**INITIAL DATA OF TEBAR=18.00 ; TIBAR=18.00 *x*
TEO =30.88 ; TIO =40.01 ; NEO .111E+21 ; ANO =.000E+00
TEBAR=18.00 ; TIBAR=23.32 ; NEBAR =.810E+20 ; BARDT=.718E+20
BETAT=0.0464 ( BETAT-TH=0.0319 ; BETAT-A=0.0100 ; BETAT-B=0.0045 )

ZEFF= 1.73; POWTE = 1.00; POWTI = 1.00; POWNE = 0.30

DJDT= 0.0 ; POWTE2= 1.90; POWTI2= 1.90; POWNE2= 2.00
PEDTE,TE2= 5.0020.00; TESTEP= 0.10
PEDTI,TI2= 5.0020.00; TISTEP= 0.10

ABLK1, ABLK2= 2.00 3.00; FBLK1, FBLK2= 0.50 0.50

FX= 0.04100 0.00096 0.00004 0.00048 0.00125

MX= 4.0 12.0 16.0 56.0 40.0

ZX= 2.0 6.0 8.0 25.2 17.9

PB=155.7 (MW) ; A= 2.0 ; ZB= 1.0 ; EB= 1.50 (MEV)

NBLINE=2 NO.1( 12 3) NO.2( 10 3) NO.

1;PB= 80.5; RT= 5.54; W=0.710; 7Z=0.000,1.731; ANG= 0.000; D= 0.000
DE=.00E+00 ; WKZ= 8.0 ; XMIN=0.5
VROTO0=0.759E+05(M/S) ; POWV1= 1.00 ; POWV2= 3.00

2;PB= 75.2; RT= 5.54; W=0.710; Z=1.731,3.461; ANG= 0.000; D= 0.000
DE=.00E+00 ; WKZ= 8.0 ; XMIN=0.5
VROT0=0.759E+05(M/S) ; POWV1i= 1.00 ; POWV2= 3.00
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—————— *%% INDUCED CURRENTS (AMP) *** ————————————————o

BEAM =0.822E+07 ; BOOTSTRAP=0.921E+07 ; OHMIC=0.000E+00 ; CINEGA=0.000E+00
LHRF =0.000E+00 ; ENHANCED =0.000E+00 ; ALPHA=0.000E+00 TOTAL=0.174E+08
; IP(MHD) =0.174E+08 ; FBS=0.528 (<MYU*>=0.235E-03) (MYU*95%=0.459E-02)
QPSI(MHD)= 4.02 ;(NET)= 3.97 QO(MHD)= 2.80 ;(NET)= 3.12 ; QMIN= 2.76
BETAP =1.647 ( BETAP TH=1.132 ; BETAP A=0.357 ; BETAP B=0.159 )

Beta-N =3.670 (= Beta-t*a*Bt/Ip) NE/NGW =0.685 (GW Density Limit)
------ *** RF AND INJECTED POWER (WATTS) ¥ —---——--—-

BEAM =0.155E+09 ; RF TO BEAM =0.000E+00 ; RF TO ALPHA=0.000E+00
TOTAL(NB)=0.155E+09 ; EXT.PWR(NB)=0.156E+09 (LH)=0.000E+00

FS2=0.0018 ; FS=0.0008 ; TAUS=0.710E+01

—————— *%% FUSION OUTPUT AND CD EFFICIENCY*** ———————--—
OUTPUT=0.245E+10(W) ; P-DD=0.467E+07(W) ; P-TCT(DT)=0.628E+08(W)
I/P(NB)=0.0528(A/M) ; I*NExR/P(NB)=0.278 ; Q= 15.7 ; Q-ELC= 4.0

GEN OUTPUT= 1113.675(MW) ELCINT=  71.176(MW) TRANS OUTPUT= 782.948(MW)
I/P(LH)=0.000 ; I/P(OVERALL)=0.112 ; I*NE*R/P(OVERALL)=0.590

Rcs= 1.633 dcs= 0.408 Bcs=  13.000 li= 0.640
Lp=0.122E-04 PHIcs= 215.550 PHIramp= 280.204
VsS= 0.769 PHIflattop= 0.000 tburn= 0.00

------ #x* NEUTRON WALL LOAD #** —-----
PWALL= 2.927(MW/M#x2) DT= 2.9248 DD= 0.0025
AREA=  827.81(M#*2) ; DDNRAT= 0.0049 ; DDTRAT= 0.0044

0-——---- %% POWER BALANCE #kk —-—————————————mmommmom e
TINEW= 23.320(KEV) ; TAUE-I= 25.976 ; TAUE-EL= 0.945 ; TAU(EI)= 0.487
TAUKGL,TAUE,TAUKGH=  0.804 1.236  1.603 TAUE/TAUKGL = 1.538

TAU89L,TAUE,TAU98H=  0.767 1.236 1.143 TAUE/TAU89L,98H= 1.612 1.082
PLASMA VOLUME:1138.94 (M**3)

NB-DOT: 0.568E+18(1/SEC M**3) NB-DOT*TAUE: 0.702E+18(1/M**3)
TAUPMAX: 0.982E+02 (*TAUE)

PRAD(TOT,1-5): 0.359E+08 0.000E+00 0.808E+06  0.694E+05
0.185E+08  0.165E+08

P-BRAMS=  0.170E+08 ; P-SYNC=  0.740E+08 ; RSYN=  0.800
P-SYNC(NET)=  0.331E+08

VROTAV=0.424E+05 ; TAUROT= 0.6182 ; TAURTO= 2.0000 ; FTAURT= 0.5
JXX= 1 1 1 1 1

FXX= 0.04100 0.00096 0.00004 0.00048 0.00125
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# MHD PRESSURE LOOP NO.50 #

J-ERROR=0.017 AT I= 29, J-LOOP= 1(MAX 198)
J-ERROR=0.012 AT I= 73, J-LOOP= 166(MAX 198)
ALPHA PRESSURE ERROR: DLT MAX=  0.00001

sokokokokokokokokokokokokokokokskkkkk - JOB NO. 18 skkkskkskokskskoskokokokokokoskokoskoskskokokokokk
LTRAP =1 ; LPITCH=1 ; LALFVN=0 ; LEDIFF=1
LIONTR=1 ; LMULTI=1 ; LBOUNC=1 ; LTEDGE=0 ; LROTAT=3
BT =6.37 ; RO = 6.50 ; AM =2.17 ; ELL = 1.88
DLT P= 0.35 ; LAMDA= 1.00 ; SHIFTO= 0.20 ASP= 3.00

*xINITIAL DATA OF TEBAR=18.00 ; TIBAR=18.00 *x*
TEO =30.88 ; TIO =40.01 ; NEO .111E+21 ; ANO =.000E+00
TEBAR=18.00 ; TIBAR=23.32 ; NEBAR =.810E+20 ; BARDT=.718E+20
BETAT=0.0464 ( BETAT-TH=0.0319 ; BETAT-A=0.0100 ; BETAT-B=0.0045 )

ZEFF= 1.73; POWTE = 1.00; POWTI = 1.00; POWNE = 0.30

DJDT= 0.0 ; POWTE2= 1.90; POWTI2= 1.90; POWNE2= 2.00
PEDTE,TE2= 5.0020.00; TESTEP= 0.10
PEDTI,TI2= 5.0020.00; TISTEP= 0.10

ABLK1, ABLK2= 2.00 3.00; FBLK1, FBLK2= 0.50 0.50

FX= 0.04100 0.00096 0.00004 0.00048 0.00125

MX= 4.0 12.0 16.0 56.0 40.0

ZX= 2.0 6.0 8.0 25.2 17.9

PB=155.7 (MW) ; A= 2.0 ; ZB= 1.0 ; EB= 1.50 (MEV)

NBLINE=2 NO.1( 12 3) NO.2( 10 3) NO.

1;PB= 80.5; RT= 5.54; W=0.710; 7Z=0.000,1.731; ANG= 0.000; D= 0.000
DE=.00E+00 ; WKZ= 8.0 ; XMIN=0.5
VROT0=0.759E+05(M/S) ; POWV1i= 1.00 ; POWV2= 3.00

2;PB= 75.2; RT= 5.54; W=0.710; Z=1.731,3.461; ANG= 0.000; D= 0.000
DE=.00E+00 ; WKZ= 8.0 ; XMIN=0.5
VROT0=0.759E+05(M/S) ; POWVi= 1.00 ; POWV2= 3.00

—————— *xx INDUCED CURRENTS (AMP) #%* ————————————————

BEAM =0.822E+07 ; BOOTSTRAP=0.921E+07 ; OHMIC=0.000E+00 ; CINEGA=0.000E+00
LHRF =0.000E+00 ; ENHANCED =0.000E+00 ; ALPHA=0.000E+00 TOTAL=0.174E+08

; IP(MHD) =0.174E+08 ; FBS=0.528 (<MYU*>=0.235E-03) (MYU*95%=0.459E-02)
QPSI(MHD)= 4.02 ;(NET)= 3.97 QO(MHD)= 2.80 ;(NET)= 3.12 ; QMIN= 2.76

BETAP =1.647 ( BETAP TH=1.132 ; BETAP A=0.357 ; BETAP B=0.159 )

Beta-N =3.670 (= Beta-t*a*Bt/Ip) NE/NGW =0.685 (GW Density Limit)
—————— *x** RF AND INJECTED POWER (WATTS) *** —————————-

BEAM =0.155E+09 ; RF TO BEAM =0.000E+00 ; RF TO ALPHA=0.000E+00
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TOTAL(NB)=0.155E+09 ; EXT.PWR(NB)=0.156E+09 (LH)=0.000E+00
FS2=0.0018 ; FS=0.0008 ; TAUS=0.710E+01

—————— *%*x FUSION OUTPUT AND CD EFFICIENCY*** ——--————--—
OUTPUT=0.245E+10(W) ; P-DD=0.467E+07(W) ; P-TCT(DT)=0.628E+08(W)
I/P(NB)=0.0528(A/M) ; I*NE*R/P(NB)=0.278 ; Q= 15.7 ; Q-ELC= 4.0

GEN QUTPUT= 1113.675(MW) ELCINT= 71.176(MW) TRANS OUTPUT= 782.948(MW)
I/P(LH)=0.000 ; I/P(OVERALL)=0.112 ; I*NE*R/P(OVERALL)=0.590

Rcs= 1.633 dcs= 0.408 Bcs= 13.000 1i= 0.640
Lp=0.122E-04 PHIcs= 215.550 PHIramp= 280.204
VS= 0.769 PHIflattop= 0.000 tburn= 0.00

—————— %% NEUTRON WALL LOAD k% —-—-—-

PWALL= 2.927(MW/M**2) DT= 2.9248 DD= 0.0025

AREA=  827.81(M#x2) ; DDNRAT= 0.0049 ; DDTRAT= 0.0044
0------- %% POWER BALANCE #kk ———————————————mmmmmmmmo

TINEW= 23.320(KEV) ; TAUE-I= 25.976 ; TAUE-EL= 0.945 ; TAU(EI)=  0.487

TAUKGL, TAUE,TAUKGH=  0.804 1.236 1.603 TAUE/TAUKGL = 1.538
TAU8SOL,TAUE, TAU98H=  0.767 1.236 1.143 TAUE/TAU89L,98H= 1.612
PLASMA VOLUME:1138.94 (M**3)

NB-DOT: 0.568E+18(1/SEC M**3) NB-DOT*TAUE: 0.702E+18(1/M**3)
TAUPMAX: 0.982E+02 (*TAUE)

PRAD(TOT,1-5): 0.359E+08  0.000E+00 0.808E+06  0.694E+05
0.185E+08  0.165E+08

P-BRAMS=  0.170E+08 ; P-SYNC=  0.740E+08 ; RSYN=  0.800
P-SYNC(NET)=  0.331E+08

VROTAV=0.424E+05 ; TAUROT= 0.6182 ; TAURTO= 2.0000 ;
FTAURT= 0.5
JXX= 1 1 1 1 1

FXX= 0.04100 0.00096 0.00004 0.00048 0.00125
PB= 163.50 172.88 173.89 172.65 172.21
PB= 172.23 172.27 172.44 172.28 172.14
PB= 164.02 161.51 160.61 159.47 158.51
PB= 157.80 157.27 156.85 156.55 156.36
PB= 156.23 156.14 156.05 155.96 155.89
PB= 155.84 155.80 155.76 155.74 155.72
PB= 1565.71 155.70 155.70 155.69 155.68
PB= 155.68 155.68 155.70 155.73 155.73
PB= 155.73 155.73 155.73 1565.73 155.73
PB= 155.73 155.73 155.73 1565.73 155.73

102

1.082



OO0 DO O0doodon

clear

-1006003947.30681 0.000000000000000E+000  345188132.543248
-907301382.657836 -98702564.6489728 345188132.543248
-835037920.385491 -170966026.921318 345188132.543248
-780549484 .626265 -225454462.680544 345188132.543248
-738450748.514782 -267553198.792027 345188132.543248
-705251517.679825 -300752429.626984 345188132.543248

1 0 k_ax= 0.000 TO= 5.000 Ta= 250.000 Vlim=

Sm= 800.000 RO= 6.500 AM= 2.167 Rcs= 1.633

N1= 15.000 di= 0.100

iSH= 1.400 O0OSH= 1.400 SOL= 0.100 a= 1.000
D= 9.804 H= 15.567 Port= 2.000 IO= 100.000 td=
R1= 2.233 N2=150 Nt= 2250.000 It= 225.000

Bmax= 16.465 Bt= 6.923

Et= 110.101 Lt= 22.020 Jopd(Bmax)= 275.110

tau= 7.340 Ain= 1.403 Acl= 1.013 Asm= 0.818
Acu= 1.249

Ast= 9.548 sigmem= 1014.005 sigpar=1215.919 Wtotal= 5439.
-179798899.537480 0.000000000000000E+000  72612312.0139261
-162158200.857399 -17640698.6800818 72612312.0139261
-149242852.932453 -30556046.6050273 72612312.0139261
-139504361.534626 -40294538.0028545 72612312.0139261
-131980229.601518 -47818669.9359620 72612312.0139261
-126046669.215800 -53752230.3216804 72612312.0139261

1 0 k_ax= 0.000 TO= 5.000 Ta= 250.000
Vlim= 20.000 Sm= 800.000 RO= 6.500 AM= 2.167
Rcs= 1.633 Ni= 15.000 di= 0.100

iSH= 1.400 OSH= 1.400 SOL= 0.100 a= 1.000
D= 9.804 H= 15.567 Port= 2.000 IO= 100.000

td= 0.500

R1= 2.233 N2= 75 Nt= 1125.000 It= 112.500

Bmax= 8.233 Bt= 3.462
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Et= 27.525 Lt= 5.505 Jopd(Bmax)= 1175.208

tau= 1.835 Ain= 1.403 Acl= 0.247 Asm= 0.096

Acu= 0.409

Ast= 11.876 sigmem= 190.526 sigpar= 225.068 Wtotal= 5654 .864
-450379626.810105 0.000000000000000E+000 171214227 .732506
-406191306.922482 -44188319.8876230 171214227.732506
—-373839553.972254 —-76540072.8378518 171214227 .732506
-349445533.025910 -100934093.784196 171214227.732506
-330598277.893536 -119781348.916570 171214227.732506
-315735257.491022 -134644369.319083 171214227.732506

TFO0000D0000O0000DOO00ObO00bOooobo0booooobooobooooobooon
ubboobogboobobod

10 k_ax= 0.000 TO= 5.000 Ta= 250.000
Vlim= 20.000 Sm= 800.000 RO= 6.500 AM= 2.167
Rcs= 1.633 Ni1= 15.000 di1= 0.100
iSH= 1.400 O0OSH= 1.400 SOL= 0.100 a= 1.000
D= 9.804 H= 15.567 Port= 2.000 IO= 100.000
td= 0.500
R1= 2.233 N2=139 Nt= 2085.000 It= 208.500
Bmax= 15.258 Bt= 6.415
Et= 94.545 Lt= 18.909 Jopd(Bmax)= 386.872 tau= 6.303
Ain= 1.403 Acl= 0.820 Asm= 0.539 Acu= 1.134
Ast= 10.134 sigmem= 809.173 sigpar= 966.992 Wtotal= 5493.257
-777536628.590665 0.000000000000000E+000  277951796.162567
-701249791.391001 -76286837.1996646 277951796 .162567
-645397635.963630 -132138992.627035 277951796.162567
-603283730.992553 -174252897.598113 277951796 .162567
-570745777.804912 -206790850.785753 277951796.162567
-545086218.432087 -232450410.158578 277951796 .162567

10 k_ax= 0.000 TO= 5.000 Ta= 250.000
Vlim= 20.000 Sm= 800.000 RO= 6.500 AM= 2.167
Rcs= 1.633 Ni= 15.000 di= 0.100

iSH= 1.400 OSH= 1.400 SOL= 0.100 a= 1.000
D= 9.804 H= 15.567 Port= 2.000 IO= 100.000

td= 0.500

R1= 2.233 N2=138 Nt= 2070.000 It= 207.000

Bmax= 15.148 Bt= 6.369

Et= 93.189 Lt= 18.638 Jopd(Bmax)= 397.790

104



tau= 6.213 Ain= 1.403 Acl= 0.805 Asm= 0.520
Acu= 1.123
Ast= 10.179 sigmem= 793.155 sigpar= 947.596 Wtotal= 5497.400

1 0 k_ax= 0.000 TO= 5.000 Ta= 250.000
Vlim= 20.000 Sm= 800.000 RO= 6.500 AM= 2.167
Rcs= 1.633 Ni= 15.000 di= 0.100
iSH= 1.400 O0OSH= 1.400 SOL= 0.100 a= 1.000
D= 9.804 H= 15.567 Port= 2.000 IO= 100.000
td= 0.500
R1= 2.233 N2=138 Nt= 2070.000 It= 207.000
Bmax= 15.148 Bt= 6.369
Et= 93.189 Lt= 18.638 Jopd(Bmax)= 397.790
tau= 6.213 Ain= 1.403 Acl= 0.805 Asm= 0.520
Acu= 1.123
Ast= 10.179 sigmem= 793.155 sigpar= 947.596 Wtotal= 5497.400

csgbuogoboboobuoobbobobooboobbuooboo

Rcs= 1.633 dcs= 0.408 Bcs=  13.000 1li= 0.640
Lp=0.122E-04 PHIcs= 215.550 PHIramp= 280.204
Vs= 0.769 PHIflattop= 0.000 tburn= 0.00
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